Shri Jain P G College, Bikaner
4 CP-1140/ /o

M.Com. (Previous) Examination, 2019

ACCOUNTANCY & BUSINESS
STATISTICS

First Paper
(Management Accounting and Financial
Control)
Time i\::.pi : Three hours
Maximum Marks - 100

SECTION-A (Marks2 x 10 =20)
Answer all ten questions (Answer limit 50 words).
Each question carries 2 marks.
gog - A (FH 2 x 10 = 20)
wHE GH ST % IT AT (I HM 50 ITR) | i
YU 2 3 HR |

SECTION-B  (Marks 8 x 5 = 40)

Answer any five questions out of seven (Answer limit
200 words). Each question carries 08 marks.

LCLCE | (31 8 x 5 = 40)

| ¥ ¥ foredl aig awl & I A | (3w d@r 200
eE) | Teieh WY 08 375 1 2 |
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Answer any two questions out of four (Answer limit

SECTION-C  (Marks 20 x 2 = 40) ‘.. L
; A -

Y

500 words). Each question carries 20 marks.

qUE -4 (3 20 x 2 = 40)

TR A Rl @ Wl % e AR (39 A 500 W) |
T T 20 37 FH1 8 |

)

(1)

(1)

(v)

(v)

(vi)

CP-1140

SECTION - A

Gug - A
State any two functions of Management
accounting,
Y'Y oRgTe & &1 i A |
Explain any three limitation of financial
statement,
fercftr feraroti ) o <fmmd sremgu |

What is trend analysis ?
Wi faveo a2 ¢

What  do  you understand by

. . . ® fdf-c-l
capitalization ?
3rfel foftertor & e T wed § o
\/ e . . &
What is mean by “Return on capital

employed™ ?
RESERCIRIS R L F T S

lynt 1 o1
What is weighted average cost of capital ?

Toft 1 wife sftera e 7 2 9

2

(vii) State two difference between management

Ve

(vin

(ix)

CP-1140

) When current ratio is 2.2 |

and Financial accounting,. .
TerY g T R d@ied J H1 &l 3T
FATST |

and the
networking capital is ¥ 36,000, calculate the

amount of current assets and current
liabilities. .
e =] 2.2 | AU MG SR 9ol

7 36.000 & A =] qEfwE] U = g
o Ty ShifeTT |

Give formule for first and second method
as suggested by Tondon Committee.

Z afa gra gems T wum 9 fydta fafu & @
@i |

Calculate fund from operations from the
tollowing information : :
Closing Balance of P&L account
T 2,00,000, Depreciation I 20,000, Non-
operating expenses and Losses written off
3 60,000, Non-operating Income I 40,000,
Opening balance of protfit and loss account
T 60,000, : ,
frafafan gem | vieew s f e
- .

T -FTH @I 1 3f<m 79 T 2,00,000, B
% 20,000, fafgn R-viEem =@ @
AT 260,000, T-viEmeR 3 T 40,000
H-BTH WTd F1 TRAEE 99 T 60,000

37 PO,
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SECTION - B
qug - "

-~
-
b

2 Differentiate between cash flow and tund flow

statement,
e yarg faator 3 HY TEE faam 1 3=
Hifsr |

>

3. Discuss the importance of report for Management.

W 7 wfderen & e = faemm fifau |

4. You have to assess necessary working capital
from following information.

Frferfed e & smust smevas wrie §sh
ST T 2

Cost per

unit (%)
Raw material 200
Direct Labour 100
Overhead
(Excluding depreciation) Ll
Total cost 550
CP-1140 4

Estimated data for the fourth coming period are
given below

ST el sty 3 s Tt e fau Mo E

(1) Raw material in stock Average
0 weeks

(2) Work in progress (Assume  Average
50% completion, Stage with 2 weeks
100% material consumption)

(3) Finished goods in stock -~ Average

4 weeks

(4) Credit allowed by suppliers Average

4 weeks

(5) Credit allowed by debtor Average
6 weeks

(6) Cash at bank expected to be T 75.000

(7) Selling price T 80 per
unit

(8) Output 152,000
units per
annum.

Assume that production is sustained at an even
pace during 52 marks of the year. All sales are on
credit basis. .

52 T A IeqTeH WA M @ A 21w
farsh IUT 3MUR W R | o R

CP-1140 5 P.T.O.
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The ratio relating to Sterling Ltd. are given below :

D,
< Porfipre & Tt iU A G TR

(i)  Gross Profit Ratio 15 percent

(i)  Stock velocity 6 month

(iii) Debtor velocity 3 month

(iv) Creditor velocity 3 month
Gross profit for the year ending March 31. 2010
amounts to T 60.000. Closing stock is equal to
opening stock.

Find out :

F1a HITAT :

(i)  Sales

(ii)  Closing Stock

(iii) Sundry Debtor

(iv)  Sundry Creditor

6. Zw..m:: Ltd. ._.ncc;na_ a net profit after tax of

< 3.,40,000 for the year ended March, 31. 2018.
Relevant balance sheet accounts on March 31.
2009 & 2010 are follows ;

w&w_ﬂﬁw 31 9, 2018 1 HAT 2 9 a9
wwﬂﬁﬁ&ﬂﬁ &1 2 3,40,000 Sfafen fean
2131 AT, 2009 T 2010 Pt wrafim fagi & @A
FHTPA R :

CP-1140 6

F

31-3-2017 | 31-3-2018
Particulars
) )
[nventories 72.000 59,000
Debtors 61,000 94,000
Prepaid expenses 3.000 14,000
Creditors 78,000 82.000
Income Tax payable 19.000 13,000

Depreciation expenses of ¥ 49,000 and gain on
sale of investments of ¥ 8,000 appeared on the
profit and loss account for the year ended March
31. 2018. Income tax payable last year has been
paid in current year.

Calculate net cash flow from operating
activities using the indirect method.
31 W, 2018 N @A B 9Tt 9 % ArH-gIH
@ 1 818 =79 T 49,000 7 Tt 6 fasht @
I T 8,000 SN T R | A Y &1 R T,
¥ § THEI AR |

Fvay fafa #1 wm #w@ ge ghEeE

~

fFmai & yg Thg waTg Sl T HITAT |

7. Discuss the essential qualities of financial
statement.

fereftar oot & atrargaes oI 19U <hifete |

CP-1140 7 P.T.
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8. The capital structure of Vandana Ltd. is as under : hwv. Py SECTION - C
e oS 1 O A ’ TE=
9.  Explain the meaning, scope and objective of
®) Management Accounting.
2000 6% Debenture of T 100 Y SRATEA 1 319, &7 Td I8 i T HITAT |
each (First issue) 2.00,0000 |
i 10. What do you understand by Capital Budgeting ?
1000 7% Debenture of g 100 Explain the importance of Capital Budgeting.
.ach (Second each) 1,00.00C ﬁ%ﬂmux N e— 23 7 ﬁw%_ el S
2000 8% Cumulative preference &1 ferer=rn Fifsu |
shares of ¥ 100 each 2,00.000
. i 1. You are given the following information
4,000 Equity shares of ¥ 100 pertaining to financial statements of a firm. You
each 4,00,000 are required to prepares trading and profit and
‘ 4 sheet.
Retained earnings 100,000 loss account and balance sheet

uh Y o R e smoest fEgER fem

The eaming per share of the company in the past 2 | 379eh] AR AR A9 G F11 @l a1 qer-9

years has been ¥ 15, The shares of the compaay SR
are sold in the market at book value. The Net Current Assets -2 1.00.000
company’s tax rate is 50% and shareholders Paid up capital 7 3.00.000
personal tax liability is 10%. Find out the Current Ratio “1.8:1
weighted average cost of capital. Liquid Ratio 35l

- ‘ s 5 0
e & ) ) o s AR 2 153 | SN mm,_.,_w_ﬂ_w Assets to Shareholder’s 80%

Gross Profit to ratio

Net Profit to paid up capital
Stock Turnover

(Based on cost of sales)
Time average age of outstanding  36.5 days
customers s i

CP-1140 9 L PTOL

T FHEE F I T Tod W EY T E | e
31 R g 50 Ufaera B qun tmeTiEi 1 At
I T F A 10% 2 | rfhd sfed gofl H
SLEEICENIE

LU T [ I B
i o
- S
o~

CP-1140 8
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pes of products which a 1 4

-

- » a5 ﬂf‘
12. There arc three 1) : e’
is producing their production costs and

|

company

selling price ,
- hl! _— ~ L : - |“-

T T = 3 THW F Iedel F A FE 2

per unit are given below :

A B C

Product @) ?) ®)
Matenial 18 26 30
Wages T 9 10

Variable overhead 2 3 3
Fixed overhead 5 8 9
Marginal cost 32 46 ¥
Selling price 40 60 61
Net Profit 8 14 9

Production in units 1000 20600 3000

The production manager wants to discontinue
rodection of one product and guarantees that
roduction of two other product shall arise by
{#%. He wants to discontinue A as it appears to
be least profitable.

e Bl |

L 1Y

{z} Do you agree to the scheme in principle 7
(b) If s0. do you think that production of A
should be discontinued ?

3T Y4 Uh IATE & IcqTeA &) ae i1 Fradl
2 Y1 3T T IATG I § 50% gl gfg F
T <A1 & | 98 TATE A 1 g HiA1 918d1 & HiiH
TE TFH FY ATHYE Id1d 2d1 2 |

(a) FAUGZAEITmIFNaaemds ¢

(b) 41 &, d1 T I A I IATEA & Fg A
T 7

CP-1140
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¢ CP-1141

M. Com. (Previous) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS
Second Paper

(Besezrch Methodology znd Statistical
Techniques)

T i afforwed © | hivew Fiiidvs

Mo xigmiisini ks | 106G

SECTION - A (Marks 2 » 168 = 20)
Answer 2l tem guestions (Aaswer limit 50 words).
Each guestion carries U2 marks. i
wve ~ 4 (FE 7 7 1) = 20)
an £y (o de sy ve) | e

SECTION - B (Marks 8 x5 = 40)

Answer any five guestions out of seven (Answer Limit
200 words). Fach question carvies 08 marks.

L GE-® (AW g xS = 40)
am #ow e dle oyl & oeae Al (zE dim 200

ez ) |

SECTION -C  (Marks 20 x 2 = 414}
Answer any tweo questions out of four (Answer limit
500 words). Each question carries 20 marks.
- . g -4 (3 20 x 2 = 44)
)4 g el € e & e Afa (g dimn 500 vs) |
e W 20 3 W1 R |

CP-1141 1 P.T.O.

Scanned with CamScanner



SECTION - A .\.‘ J
gug— A
What is Pure or Fundamental Research ?

forgg TN ST RNa e ?
(i) What is observation method of data
2

collection ?
i Teper ol FraeleA T RB 7

5y What is difference between interpolation and

(111)

. (D

extrapolation ? 2

e U G SO 3 9 ST E 7
The second and fourth central moments of a
distribution are respectively 3 and 26. Find

Kurtosis based on moments.

ﬁ&ﬁ%ﬁ%ﬁﬂﬂ%%ﬁﬁ@ 3

(iv)

(v) Co-efticient of colligation  between
adult and married girls of a college
is +0.2679. Find out Yule's co-efficient of

association. . 2
T e ! FER a0 faanfea BERT % AA

Y T + 0.2679 B | gt <1 HTE T
T I |

(vi) In a group of equal number of men and
women 10% men and 45% women arc
unemployed. What is the probability that a
person selected at random is unemployed 7 2
weh T i ey 9 Foral T HEn 4 7 | 10% T
T 45% ford AR £ | Ao ¥ 8 T H
@ﬁ?wg%&%ﬂa% _

CP-1141 2

|

CP-1141 3

(vii) It is known that the sum of squares between
.mm_;_g_nm is 16 and degree of freedom is 1. It
is also known that the sum of squares within
mm._:%_nm is 28 and degree of freedom is 14
Find out variance Ratio (F-Ratio). . 2
ﬁ%w?uﬁ%%zﬁ@mﬂ% 16 a4
W Hiie 17 1 ¥ ot @ 2 R ufe %
F=A M HT AN 28 Y WA FIE 14 2 |

wﬂsﬁﬁ?ﬁﬂﬁm&ﬁ_
(viii) .mx_u_r:: any two applications of normal
frequency distribution. 2
| R S de % i & IR A |
(ix) Give formula of sampling error. 2

BIESAERITEES B e
SECTION -B
gig-q
What do you mean by Research Design ? Describe

the guiding princi :
principles in the ¢ :
resesrch design; onstruction of a good
3+5

MY SHeT A 3777 T GUA B 7 T : _
Jifirere fomtor 3 mmiesies Rt s avi SRR |

From the followi .
win o ‘
figure : ¢ data estimate the unknown
% 8

Ferifee it & a1 af WA Bt ;.
Year @) = 2006 2007 2008 2009 2010 2011
Profit @¥) 98 110 115 2 (28 145

P.T.0.
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'3

4 What do you understand by association ol

7 How is ity existence or non- -existence

attributes

3+5§
aﬁc_ﬁ::ﬂ_ 2
mﬁmﬂr @1 T.n el mmns Wﬂ AR 7

5. A Life Insurance Company finds that in a certain
city it is 6 : 8 in favour of a :S_n who is now 55
living till he is 75, and is 3 : 5 against a female
who is now 635 living till she is 85. Find the
probability that at least one of these two will be

alive 20 years hence. 8

U AR A H a7 e 2 e § v a3
Ty 55 a4 wE, F 75 9 A% A 773 F 9E
HAMATA 6:8 7 3 U A A 65 T F1 R F §5 7
7 Hifad A % fana § FEeTE 3:5 2, M I 8 F
ﬁ@ﬂnﬁ.ﬂuoﬂaﬂa%ﬁmﬂﬁ%

HME FHIf A7 |

6. Assume the mean height of students is an exactly
normal  distribution with 68.22 inches and a
variance of 10.8 inches, How many students in a
college of 1000 students would you expect to be
over O feet all 7 (Area under normal cune
corresponding Z = 1.5 15 0.3749)

77 wrd v fw faafdan € Samd & 922w
AR ?ﬂﬂ%ﬂ%.-.ﬁﬁuas 10.8 5= R,
T Hied @ 1000 famfdn 0 A fay faafdad

A\.ﬂmms?ﬂmﬂ%%_%%ﬁqﬁmw

no-

8

(Z = 1.15 % fow vamr= o % ar=nta ame 0.3749

)

CP-1141 4

e

CP-1141 5

What is Analysis of variance ? Describe the
technique of analysis of variance for data with one
way classification, S+

- =

YUl #9187 UF urifa Ahel & fedu e
mﬂﬁﬁmﬂ_ﬂﬁaﬂznﬁﬁ_

An "1Q7 test was administered to five persons
before and after they were trained. The results are
given below :

Candidate 1 m om Vv

lQ before training 110 120 123 |

2 425

‘el

1Q after training 120 118 125 136 120

Test whether there is any r__mzr_.. n [Q after the
training programme. (Given ; Ly Hord df) = 4.6) 8

we =fel zm ufam & g qen aw g T
ety hem fan mn | fom fs v

angdi Iumom o vy

ufmaorE Afemfa 110 120 123 132 125
ufTam vrad gfgmfn 120 118 125 136 191

ﬁnﬁﬁ?ﬂwﬂgm@ﬁ@..n?ﬁsgﬂ

ﬂmﬁﬂaaﬁﬂgw:mﬁﬂm:ob_ (E=a=
#1243 fom) = 4.6

P.T.O.
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d -

i T fo9T @re 1 4 =R @di 31, 7, g 3fie g e
SECTION - C 3 N . G SR
’ T | YR Ta § AR e = w si 3
qug -4 We, 1 YA oy T | 9 @di o, 9, @ s e f
I 1 A 1 399 % s fa e 3 ¥ | 7
9. What is Hypothesis ? How is it formulated and hIf for @l 1 399 F wredi § s anE 2
tested ? §+15 T 7 ,
1% 7 7 o YT AT T o 4 A (F 1 9ofl 9o 5% wdfepar T W vV, = 3 3R
5, V,=12W3.498 |)
¢ Output on Plots
WAl T IATEH
10. The first four raw moments of a distribution are 7, AP | B@®E | Cc@® | D®
70. 140 and 175 respectively. Compute the first 8 9 3 3
four central moments and the B co-cfficients. 12 4 8 7
Comment upon the nature of the distribution. 12+4+4 I 7 2 8
. . J 1 3 2
e fag & AT 999 =) 9iEm A 7, 70, 1407
175 2 | 749 4 F2/@ Tiami &1 9RiEer HIiad | |
p TIE SN it d23 1 gpia T e 12, What is sampling ? What are its objectives ?
A | Discuss various methods of selecting samples.
. o 5+5+10
. ideRH F1 2 7 30 AH-5H 9 329 8 7 viaew 5
1. A special type of fertilizer was tried on 4 plots A, 1 ) fefor e o Ferem iR |
B, C and D. In each plot 4 beds were made and the ;
fertilizer was applied. Given below the yields of
the four plotes. Discuss if the difference between
the average plot yield is statistically significant.
(Table value of F or 5% level of significance and
for 3 and 12 d.fis 3.49) 20
CP-1141 6 CP-1141 7
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CP-1142

M.Com. (Previous) Examination, 2019

ACCOUNTANCY & BUSINESS STATISTICS
Third Paper
(Higher Accounting)

Time allowed : Three hours
Maximum Marks : 100

SECTION-A (Marks 2 x 10=20)
Answer all ten questions (Answer limit 50 words). Each question carries 2 marks._
g - (FH2x10=20)

T o8 T 3 T AT (I 50 9eg) | e ¥ 2 IFEHE

SECTION-B (Marks 8 x 5=40)
Answer any five questions out of seven (Answer limit 200 words). Each question carries 08
marks.

B9 (37 8 x 5=40)
T & faed UTE w1 3 I A1TAu, (FaC ETH1 200 9%=) | Wi 7% 08 FEFEI
SECTION-C (Marks 20 x 2 = 40)

Answer any two questions oul of four (Answer Jimit 500 words). Each question carries 20

marks. )
g B -9 (316 20 x 2 =40)

i & Fadl & st 3 Fe A, (3o HI 500 TE2) | NS W 20 SEFE |

SECTION -A
gE -3
1. (i) Whatis meant by divisible profit ? 2

R T E A 2 7

(ii) Narrate the objective of Farm Accounting. 2
Fi1-%H @A & 3874 qaT |

(iii) What do you understand by Replacement cost 7 2
YAATqA AT A AT 9 ATl £ 7

(iv) Define social accounting. 2
A% A F1 g g |

(v)  When the internal reconstruction is desirable ? 2
ATt A e AT w2 7

(vi) Differentiate between Reconstruction and Amalgamation. 2
gt v v 1 g i |

CP-1142 1 P.T.O.
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6,

e Distigaish between "Coat ol Contial! and Uil
P ) s ale Tentat N s |

(vnt) What do yon understand by Aceonnting standand ¥
At WA Qa7

(x)  What s meant __:. preterential craditor Y
walfran gl & = s AR

(x)  What do you mean by Now-Hanking Assets ?
o= ARy A e s @

SECTION =1
wog -y
Describe the scope of Responaibility Accounting,
ot Qa5 A e DA

Give journal entries of declaration and payment ol dividend with example,
e R vamen v et waad) et wfafoal saiswn afza @y |

Distinguish between *Amalgamation in the nature of merger’ and *Amalgamation in
the nature of purchase .

Rt o) wopf % vl et e o st vl i aea ungngy ¢

How are advince of n bank claxsified ? Give the normy for the creation of provision in
-n..,._d.cﬁ of advance,

Jad % ot faag e 2 sl faidt ard § 2 i & w3 s fafor e %
mzvs 4, |

On 31* March, 2018 Y purchased T 50,000 $% Government loan @ T 95 cum-lnterest :
[nterest being payable on 30™ June and 31* December every year, On 1" July, 2018
one-half $% Government loan investment was sold at T 96, Again on 1" October, 2018
T 12,500, 5% Government Loan was sold @ T 96.50 cum-intcrest, On 1" December,
2018 T 20,000 5% Governmenl Loan was purchased @ T 95.50 ex-interest, On 31"
December, 2018 when the annual accounts of Y were prepared the 5% Government
loan was quoted @) T 95 ex-inlerest,

Show the account relating to the above transactions in the Ledger of Y Limited for the
year 2018 assuming that, ¥ always values investments as FIFO basis.

31 wred, 2008 @ ard A 2 50,000 % 5% aenifl w01 295 @i ufea g ) gugalien g
wrra it 30 4 4 31 fenat ) 2 R o 1 S, 2018 0 5% HER 1L ST
T 96 41 720w & faan | g ) sEzE 2018 61 T 12,500 %1 5% deRT w T 96.50
aard -ufea g of) g quaan o ) fesar, 2018 0 2 20,000 1 5% wenf) ®=m T 95,50
watd 1fa yea e ahia nm | gz e v f 3 e, 2008 0 waad g afdes
Yo $3 ma, 5%, w8 e 295 sard-ifed s o 2w agaan

i wiad 1o Fa g g Safaant w0 s wn g e waa ffua (G fafu @
St 3 4 ad 2018 % S, anva ol 3 avafg v ) ard o) e i frongy, ¢

CP-1142 2

nf. ’,..* 1

9.

CP-1142 3

Ascertain the presont value of the lmen resources from the fullowing information as
per Hermmnson®s mode ;

Ftfeateant st & meaernn witeet @ sequre nie el a1 adus g sm 6fan
t)  Discountate is 105,
() Vstimated Anoual sulary for the nest five yeirs is T A4 Jakhs, € 4 Jakhs, T 8 Jukbs,
T 10 Jakhs and T 12 Jakhs respectively,
(i) Discount factor at 10% is
() 0,909 far the first yeur
() OK20 for the secomd year
(e) 0751 for the thied year
(dy 0683 for the fouth yeur
(€) 0021 for the Fifih yenr

(lv)  Rate of Return for the fiem for the current year snd the preceding four years is
20, 15 12, 15 and 10 respectively,

(v)  Rate of retarn for all the finns In the ceonomy for the current year und the
preceding four yoars 13 15, 10, B, 20 and 10 respectively,

How will you deal with the following in the consolidated balancs sheet 7
vaepar Foag i Faeafenfen 3, 2 g i wgmmpe i 7
(i) Unrealised profit
T R
(i) Inter-compony share holdings
11 i) sty

SECTION =
qE~-Y
On 1™ April, 2014 A Ll purchascd a machinery for T 5,00,000, Provision for
depreciation iy made al the rate of 10 percent on straight line method, ‘The company
has the practice 1o show its aasels, on current values, It adopls specific price index for
converting the value of ity assetw. The specilic price index for converting the value of

ita manets, The specific price index of machinery and plant on Jamuary 1, stand like this :
2014-2015 (100), 201516 (110 snd 2016-17 (125)

Show the relevant secounts in the aompany, 0

1 e, 2014 %) van fafudg 3 s walia € 5,00,000 4 @l | (Ea-gm & 4o, v
vl -zt i 10 ufame £ g0 3 S s 8 (o 8§ eafi #1 wdur s v faani
£ war | wmord) et & el 1§ ofeda w13 gq fafare g aprias faf s
# | vl 3 wifue fafore gea spesin, | A S g uwn a8

2014-15 (100) : 2015-16 (110) : 2016-17 (125)

o) o) per | smafars v framgy )

P.T.0.
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10.

i

M. Ltd. has just passed a resolution for liquidations. The books disclose the following
balances :

un fafize 3 sl aees v it T 2 _mﬂﬂ.._mw_ﬂ&mnﬂmmnm"

Goodwill ¥ 5,000, Freehold property Z 45,600, Plant and Machinery T 8,800; _w,x:_:.m
and Fitting 750, Investment ¥ 500, Bank-over draft (Unsecurred) T 270, Cash in hand
Z 10; Book Debts Z 5,730, Stock in Trade ¥ 2,200, Mortgage on frechand property
Z 20,000, Interest Accrued there on 2 500, Authorised and Issued share capital : 500
preference share of 2 10 each % 5,000, 500 equity shares of T 10 each ¥ 5,000
Unsecured Trade creditors Z 59,100 Prudential creditors T 710.

It is estimated that the assets will produce the following sums :

Goodwill — Nil freehold property, The Amount shown by the coo_.v..“ Plam and
Machinery ¥ 2,070. Fixtures and Fitting ¥ 290, Invesunents % 510, Books-Debis (Good)
7 3,440 and Doubtful 7 860, Stock in trade ¥ 1,250.

Prepare statement of Affairs and Deficiency Account.

feufa—Teramor ve =Ean @ dar i |

Narrate the objects of amalgamation of companies. Describe main features of AS-14
on ‘Accounting for Amalgamation’.

FuIfidi % UHIH % I2vdi @1 v HITAT | Ul @ fee e@ie 9 sTh AS-14 %
T famg il o avia i |

“Social Accounting is the identification and measurement, monitoring and reporting of
the social and cconomic effects of a institution on society.” In the light of this
statement, critically examine the significance of social accounting.

“ETHITH I U HEA1 % GHE T YSA aTel Ao Td STifde 79T ) 9g=e 3R
T FT FRAE0 HE U e w1 R 17 39 w1 v 1w dhated & wed #
HATATATEHS SAT@ HIFT |

CP-1142 4
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20

20

Scanned with CamScanner



CP-1143

M.Com. (Previous) Examination, 2019

ACCOUNTANCY & BUSINESS STATISTICS
Fourth Paper
(Cost Accounting and Cost Control)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks 2 x 10 =20)
Answer all ten questions {Answer limit 50 wozds). Each question carries 2 marks._
qE-H (3% 2 x 10 = 20)
T SH W1 ST AT (IR HIHT 50 TI5) | TAS A 2 AF HIE |
SECTION-B (Marks 8 x 5=40)

Answer any five questions out of seven (Answer limit 200 words). Each question carries 08
marks.

FE-9 (37 8 x 5=40)
ara 3 ol i wel & son e (For i 200 1) | TAS TH 08 IFH1E |
SECTION - C (Marks 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries 20
marks. .

TE-F (37 20 x 2 = 40)
IR A § Tl Q AT 3 IR AT (ST T 500 Wsg) | WA W 20 iH H1 2 |
SECTION-A
g s -3
1. (i) Whatdo you understand by Commercial Tonne-Kiliometre ? 2
anfrfr = fheiflet & ame s amsa & 2
(ii) What is meant by Cost Informations ? 2
ST IS & AT R 2
(iii) What is meant by retention money in contract costing ? 2
3% [ | 30T [ T ANER 7
(iv) Give a precise Format of Process Cost Account. 2
wfsraT ST WA 1 S WY FaTed |
(v) Explain two limitations of standard costing. 2
THIY AT oiEieh st g1 HimTail ) wqE Sk |

(vi) What do you mean by Master Budget ?
A S9E & 9 T EFA @ ¢

(vii) Fixed expenses is ¥ 90,000, Sales is T 3,00,000 and Profit is ¥ 60,000. Calculate
P/v Ratio.
fer =@ ¥ 90,000, fama T 3,00,000 7= SN T 60,000 B | A-HET FAIE H

o i |
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(viii) Write a shon note on Trensfer Pricing-
TR S W fewet fae | ) ]

(ix) If there is a loss as per Financial books ¥ 10,600, donations not wro,wd in cost
accounts ¥ 6,000, what would be the profit or loss as pet cost accounts ?
afz fadf gt & agER ¥ 10,600 1 7 &1 41 2 I T X 6,000 HI T
et & wfirer 7 Faar 1 6 e S g SR @ 41 8 @ |

(x) Where is the utility of Integrated Accounting ?
T T Sl S9gEdl FE @ 7

SECTION-B
gE-q

A Truck started its journey from Delhi to Ajmer with a load of 12 Tonnes. 3 Tinnes
were unloaded at Jaipur and a further 2 tonnes at Kishangarh. At Dudu a fresh load of
5 tons was loaded. Tt was fully unloaded at Ajmer. On its return journey it started with
8 tonneg from Ajmer which was fully unloaded at Jaipur. A fresh load of 11 tonnes
was taken from Jaipur which was unloaded at Delhi. )
Distances from Jaipur are : Delhi 200 kms, Dudu 70 kms; Kishangarh 115 kms, Ajmer
140 kms.
Calculate Absolute and Commercial tonne-kms. for the above details of journey.

U g 1 19T AT 12 27 e ot gl @ I % fore w1 i d g d 3
o7 a1 2 29 Wiet g Jan fom e | g ¥ 5 o e a1 I wer e T a
T WA A Iar fean | S A d e & 8 7 A H weH R mn
T HTet S FaT feren v | FEge A R 11 2 e o we e aan @ gt ug
U IART 4T |

FA & I TIH1 1 gt e v E

et 200 faedt, gg 70 o, Toremg 15 fordt @ e 140 Foft

AT % I FreoTt 4 aftee 27 feremdet aan anfvrfsaes o fereindier & witeer $ifag |

Discuss the justification of Inter Process profits. How are such profits dealt within
process accounts ?

1t ufemar = 3 sifae it faa= il | 39 wn S ot =1 wfirn Saiea 9 e
R RN haT ST 8 ?

From the following data relating to a contract extracted from the books of a company,
prepare contact account as on 31% March, 2018. Also compute the profit and the value
of work-in-progress for preparing the final accounts :

H T Y geas! 9 frefl 3% @ wrafa fier e 3ot € ) 31 W, 2018 @ 3
AT T a1 A G A HE ¥ S 9 =T 6 oEn i i

Q) ®)
Material Issued 90,000 Work Certified 1,76,000
Wages paid 50,000 Work Uncertified 9,000
Plant [ssued 75,000 Amount received  1,58,400
Salary paid 5,500 Contract price 3,00,000

CP-1143 2

You are further informed that

(i) Work commenced of 1% October, 2017. )

(ii) Wages for one week and salary for one month were due at the end of period.

(ili) Depreciation to be charged @ 10% per annum on plant.

(iv) Material at site on 31% March, 2018 was ¥ 4,200.

ST T Tl GaATd ST & -

(i) /1 3w, 2017 S 9o fmar @ | =
(i) T TaTE B Al U G MR H1 AT A IR |

(iii) &&= 9t 10 wfawa aiffs g & g/ < Hife |

(iv) 317, 2018 1 amft %1 ¥ T 4200 1 |

Explain the following : 8
o= =1 aEEEd
(i) Flexible Budget
AR Eae
(ii) Cash Budget
Thg T

From the following data calculate Labour Cost, Labour Rate, Efficciency and Rate
Revision variances :

Frferfa faaon 3 a7 aFm@, 79 g, 79 HRICHdT aUT 3H Heire gt e i aferorr iR -

Original Standard Rate of Wages ¥ 3.00 per hour

Revises Rate of Wage afier Award T 4.00 per hour

Actual Hours Worked 750

Standard Hours Produced 675

Actual Labour Cost (Due to overtime) ¥ 2,925
From the following data prepare the marginal cost statement and find out : 8
(i) P/Vratio (ii) Break-even point
(iii) Margin of safety (iv) The profit
Prefofaa giet & g ard far-va 99 au w4 Hif
(i) ETY-HET A9 (i) wmfa=e-fag
(iii) e dm T (iv) =™

Direct Material T 60,000

Direct Labour T 48,000

Variable Factory Overhead 25% of wages

Variable Office Overhead 10% of works cost -

Variable Selling Overhead 15% of work cost

Fixed works, Office & Selling overhead 48,000

Sales 2,500 units @ ¥ 80 per unit

Give any four reasons for difference in costing profit and financial profit and also

prepare a reconciliation statement using imaginary figures. B

mﬂmmzﬂwﬁm%mﬂﬂwﬁﬂﬂzﬂﬂm_mﬂmﬁﬂﬂﬂﬁmﬁmﬂ%ﬂ&f
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SECTION-C

-9
e 20

Y. From the tollowing details prepare :
(@) Sttement of equivalent production

(b)) Statement of cost

(©)  Process account on First, in First out basis )

fvsiferRaa franor A wem aum, werm P fafi o dam Hifsre :
(31 qeu Ieure w1 faaor-ua

(§)  eirTd T fawr-um, qen

(@) whkur @i

@) Opening work-on progress : 2,000 units
Material (100% complete) 17500
Labour (60% complete) T 3,000
Overhead (60% complete) 11,000 )
(1) New units introduced in the process for the period 8,000 units.
Material T 1,00,000, Labour T 78,000, Overhead ¥ 39,000
(¢)  Closing Work-in-progress : 2,000 units
Muaterial - (100% complete)
Labour (30% complete)
Overhead  (50% complete)

10, From the following data, calculate fixed overhead cost variance and its various
components on the basis ol standard hours : 20

fFe=terfaa wiwt & f sufter e faa aen sa% fafis gewi 6 sfowm yam avel

& 3nai gt i
ltem Budget Actual
No, of Working Duys 20 22
Standard man-hours per day 8,000 8,400
Output per man-hour (units) 1.00 1.20

Total Output (units)
Fixed Overhead

1,60,000 221,760
TI16,000 T 15,200

' “Marginal Costing is an aid for Managerial Decisions.” Explain in detail 20
‘el e Svaia, weeaha fofu o v @ 1 R ansm
12, From the following information, make entries in the cost journal : 20
Frerferfera ernan 4 ema sfen 3 wfafial Hifo .
Item Amount (Y)
Purchases 3,290,000
Carringe Inwards 5.850
Stores Issued 3,58,800
Productive Wages 346,320
Works on cost 348,400
Unproductive labour 1,12,680
Material used in repairs 3120
Cost of completed Jobs 12,80,630

CP-1143
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